




















f(x) = a x + a x + ... + a x + a

n n+ 1

1 f(x) = 3x− 4
{(0,−4), (3, 5)}

(0,−4) f(x)

3 g(x) = 2x − 12x+ 21
{(1, 11), (−1, 31), (2, 13), (−2, 29)}

{(1, 11), (−1, 31), (−2, 29)} g(x)
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p(x) = 3x + 4x + x+ 54 2



1344 = 1 ⋅ 10 + 3 ⋅ 10 + 4 ⋅ 10 + 4 ⋅ 10

1344

1344 = a ⋅ 6 + b ⋅ 6 + c ⋅ 6 + d ⋅ 6 + e ⋅ 6
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1344 = a ⋅ 6 + b ⋅ 6 + c ⋅ 6 + d ⋅ 6 + e ⋅ 64 3 2 1 0
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f(1) f(f(1) + 1)
b = f(1) f b
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f(b+ 1) = a (b+ 1) + a (b+ 1) + a (b+ 1) + ... + a (b+ 1) + a

a , a , ..., a , a f(b+ 1) b+ 1
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f(x) = x + 2x+ 3

f(1) 6
f(7) 360
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10237=1.73+0.72+2-7 't 's -70⑧
fcxy=x3t2xt3
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f(2) f(f(2) + 1) f(3) f(f(3) + 1)

f(1) f(f(1))

f(x) = cx

f(1) = c f(c) = c

f (x) = x

f (1) f(x) = cx

f(x) = x f(1) = 1 f(f(1)) = 1
(1, 1) f(1) = 1

p(x) = 2x − 1
f(x) = x f(1)

f(2)
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